
14th May                                     Foundation 5-a-day              

3.4 ÷ 4 7.2 ÷ 5

Increase £40 by 30% Decrease £260 by 5%

Two spinners are spun. The scores are 
multiplied together to give a total score.

Complete the table.

What is the probability of an odd total 
score?

Omar is organising a charity concert at 
school.
The concert is sold out.
The hall holds 31 rows of 19 seats.
Each person will pay £5.

How much money will Omar raise for 
charity?

Laura wants to buy 30 candles.
Which website should Laura use?

�

Candles normally cost £6 each.

Two websites have special offers

�


